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It is written here, ‘and they shall  — 79977 ani7 2502 MR K57 290D
place it’, and it is written there, ‘the decapitated’

OVERVIEW

X995 27 taught that there is no MoK of 1IR17 after the Mx»n was performed. The X
states that by w77 N0 and 79177 7239 there is an 7RI MOR even WYY NK?
MR, but they are 171%7 PRY TR 2°K%25 2°2100 1w, The XA continues that even
according to the 7" that 0°21n2 "1 are 7"717n, nevertheless there is a V¥ by each
of these two' to teach us that it is only by these two that there is an MoK after w2
1M, but not by other 7R3 *MD°R. N1BOIN explains why two 201 are necessary.

mooin asks:
= 1119939 9293 RYT 152N 91D )0 1N YVIY S9N TIIVYIN INNAN PNYY 13929 NN

The >'"9 is astounded! Why are two 2% necessary; one 02 is sufficient,

for the 770 wrote this one 11v°» in order not to derive from cither of them ( n»11n
1WA and/or 91 723Y) an WNI¥A AWYIW NRY ARIT MO°K.

nBoIN answers:
= NLIWN 1N NIN 2919 XD INT 99D UN

And one can say; that if only one v was written -
- 3995195 75 99 M7 YT XNY1 NN S0IWNY '8 1D NY

We would only be able to exclude something which is not so similar (to the 127
qoR37 [either 777 NN or 191 173v]) so that it should be prohibited -

19999 TAVYIN 391 KY 49019 3177 XNY) YaN
However something which is similar enough (to either 7"77n or ¥"v) so that it
should be prohibited (from having X317 from it even 1mxn AwYIw NKR?), it would

' By 1w73 N it states 1w, that only this has to be placed (near the nam) and no AR37 is permitted ( WYY NR?
1M¥n) but in other cases it is permitted, and by 791y 773¥ it states that this \m¥» AWy NR? 7817 NOR (which is
derived from ow 1 3; meaning 7nN112p Xan aw) is only by this 71917 723y, but not in other cases,
2 See ‘Thinking it over’.
3 Whenever a 0wn is used it excludes items which are least likely to be included in the initial ruling, for (in general)
we limit the w1711 as much as possible unless we have ample reason to broaden the w17°m.
4 moon does not indicate which are the cases that are 902% >"2 "»7 X2 and which are the cases which are 70" 7.
Perhaps we can say that if the v1¥°n was written only by 791w 723y (for instance), we might have said that by 793w
7917y the 7710 wants that it should always be remembered (as the 710 also writes ¥11° R?1 12 72¥° R?; prohibiting
7Y aTaY even in the future), therefore there is also an X7 MOR even M NWYIw NX?, we would therefore
exclude only those m¥» where do not find any reason that there should be a remembrance; however we would
perhaps not exclude other mxn where there is a reason that it should be remembered (and are therefore similar to
D1 19AY).
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not be excluded from this one v¥°», therefore both o'y are necessary to teach
us that everything is excluded from being 1mx»n Iwyiw xS q0K1 (even things which are very
similar to 7"770 and ¥"Y).

SUMMARY
A single m1v™ is limited in its exclusion; however a dual V¥ excludes everything.

THINKING IT OVER

nmooIn asked that it should only state one vwn.> Why cannot we answer, if it would
only state a v1v°n by one of these rules (let us say 7"717n), we would say that (since
the v1¥°» informs us that this rule cannot be applied elsewhere it is as if) this rule
(of 7"mM1N) is not mentioned at all (as far as deriving anything from it elsewhere),
so there remains only the other rule (¥"¥) which has no vw"n and we can derive
everything else from it (since they are no more 71X 1°X277 1°21N3 "1w)?!

3 See footnote # 2.
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